



**GOVERNMENT OF WEST BENGAL**  
**DIRECTORATE OF FORESTS**  
**OFFICE OF THE DIVISIONAL FOREST OFFICER,**  
**PANCHET DIVISION**

*Satyajit Sarani, Bishnupur, Bankura*

*Phone & Fax No.. 03244-252189, E-mail: dfopanbis-wb@nic.in,  
 Website: www.bankuraforest.in*



**Quotation No. 53/ Repair cum Maint. of Culvert of 2025-26(VP)**

**Dated, Bishnupur, the: 31 / 12 / 2025**

In terms of Finance Department Audit Branch Govt. of West Bengal's Memorandum No. 5400-F(Y) dated 25-06-2012 sealed quotations are invited from bonafide experienced and reliable resourceful agencies having experience in any Govt. /Semi Govt. / Govt. Under takings for providing various categories services as detailed in schedule below subject to the following conditions. Quotations should be addressed to the undersigned in sealed cover by name as well as official designation **Shri Abhijit Kar, WBFS, Divisional Forest Officer, Panchet Division, Bishnupur.**

**Quotation for Repair cum Maint. of Culvert at Peddy Mouza, J.L. No.- 125, 01 No. (N 23°02'26.42" E 087°17'57.17") of Bishnupur I Beat, Bishnupur Range under Panchet Division. (On Contract)**

**Copy of estimate Enclose**

Range	Beat	Mouza & J.L. No.	Quantity	Project Cost
Bishnupur	Bishnupur I	Peddy Mouza, J.L. No.- 125	01 No.	<b>69,923.00</b>

**CONDITIONS**

1. The Quotation should be submitted in **sealed cover**. Quotation No., Bidder's Name & Address should be properly mentioned on the envelope. Incomplete Quotation paper or documents or envelope will be rejected.
2. The Contractor should **quote the rates, Percentage (%) in figures as well as in words**.
3. The materials to be supplied must be approved by the concerned Authority.
4. If any defects or issues are found with the supplied materials, it will likely need to be replaced with materials that meet the necessary standards. This is to be ensured that the safety and quality of the materials being used in whatever application they are intended for meets Standard specifications as per PWD.
5. The Contractors should submit Income-Tax, Sales Tax and Professional Tax Clearance Certificate, GST Certificate, PAN, Aadhaar & Trade License. Incomplete Quotation will be summarily rejected.
6. Acceptance of lowest quotation is not obligatory and the undersigned reserves the right to accept or reject any or all of the quotations without assigning any reason whatsoever.
7. The estimated rate is inclusive of all Taxes. The quotationer should quote their rate accordingly.
8. Bill has to be submitted with detailed break up of GST (CGST & SGST) as per the prevalent Govt. Order in this respect. All Taxes will be deducted from the gross bill as per Govt. rule.
9. For complying with Mahatma-Shree, the employment should first be offered to "Job Card Holders" from the fringe villagers and L1 Bidders/Contractors getting Work Order have to compulsorily submit the details as per Annexure-VI, as mandated under the scheme.
10. Sealed Quotation will be received up to **14/01/2026 & Opened on 15/01/2026 at 11:30 A.M.**
11. The Bidders should submit PAN- Aadhaar link screen shot for authentication of PAN-Aadhaar being already linked.

**Divisional Forest Officer,  
 Panchet Division, Bishnupur**

**No. 2373 (9)/02-08**

**Dated, Bishnupur, the: 31 / 12 / 2025**

**Copy forwarded for information to and wide circulation to:**

1. The Chief Conservator of Forests, Central Circle, West Bengal.
2. The District Magistrate & Collector, Bankura
3. The Divisional Forest Officer, Bankura South Division, Bankura North Division & Working Plan (South) Division -II
4. The Sub- Divisional Officer, Bishnupur.
5. The Assistant Divisional Forest Officer, Panchet Division, Bishnupur.
6. The All Range Officers, Panchet Division with request to affix in the Range Notice board for wide publication.
7. Head Clerk, Panchet Division for Office Notice Board.
8. Account & Budget Section of Panchet Division.
9. Notice Board at Division Office.

**Divisional Forest Officer,  
 Panchet Division, Bishnupur**

# (ANNEXURE)-C DC-1

## ESTIMATE FOR REPAIRING OF PIPE CULVERT AT MOUZA- Peddy, JL. NO-125 ,BEAT-Bishnupur I UNDER-Bishnupur . RANGE, PANCHET DIVISION, BISHNUPUR.

ITEM OF WORK	DESCRIPTION OF ITEM					QTY	UNIT	RATE(Rs.)	AMOUNT(Rs.)
1	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. (a) Depth of excavation not exceeding 1,500 mm. According to PWD Schedule, 2017Page-1/It. no-2(a)								
	FOR DESILTING OF BED	1	170.000	3.000	0.600	306.000			
		TOTAL			306.000	% Cum	11927.00	36496.62	
2	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc. layer by layer complete. (Payment to be made on the basis of measurement of finished quantity of work). (a) With earth obtained from excavation of foundation. According to PWD Schedule Page-1/It. no-3(a)(3rd corrigent page-1 sl-1)								
		TOTAL			15.690	%Cum	7754.00	1216.60	
	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per manufacturer's specification and as per direction of Engineer-in-Charge to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer In Ground floor (Two Coat) a) Normal Acrylic Emulsion. According to PWD Schedule 2017 Page-197/It.no-17(a)								
3		1	6.000	3.500		21.000			
		4	6.000	1.200		28.800			
		2	6.000	2.100		25.200			
		TOTAL			75.000	Sq.M	67.00	5025.00	
	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or concrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface thoroughly, complete as per manufacturer's specification and as per direction of the EIC. In Ground Floor: (a) One Coat. According to PWD Schedule, 2017 Page-196/It.no-8								
4	(detials qty at sl no - 3)	75.000			75.000	SQM	31.40	2355.00	
	Stripping off worn out plaster and raking out joints of walls, ceilings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed. (According to pwd schedule 2017 page no-11; it.no-10)								
		1	3.800	2.500		9.500			
		4	3.250	1.200		15.600			
		2	3.210	2.100		13.482			
5		TOTAL			38.582	Sq.M	19.00	733.06	

ITEM OF WORK	DESCRIPTION OF ITEM					QTY	UNIT	RATE(Rs.)	AMOUNT(Rs.)			
6	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] with 1:6 cement mortar, 20mm thick plaster. (IN.- 1 (i) (b) / Page No.- 49 / PWD, SOR Vol 1 3rd Corrigendum)											
		1	4.800	3.500		16.800						
		4	5.500	1.200		26.400						
		2	5.200	2.100		21.840						
		TOTAL			65.040	Sq.M	153.00	9951.12				
7	Providing weep holes in Brick masonry / Plain / Reinforced concrete butment, wing wall / return wall with 100 mm dia AC pipe, extending through the full width of the structure with slope of 1V:20H towards drawing face. Complete as per drawing and Technical specifications. (Pg 297, Sl no 13.03 of PWD Road schedule & 15 th Corrigenda)											
	20 NOS			20.000	NOS	115.00	2300.00					
8	Sand rubbing including preparing and smoothening surface with admixture of pigment if necessary as directed. According to PWD Schedule 2017 Page-192/It.no -B-2											
		2	3.000	0.600		3.600						
		3	1.660	0.450		2.241						
		4	2.140	0.600		5.136						
		TOTAL			10.977	SQM	54.00	592.76				
1) SUB TOTAL COST								58670.16				
2) 18% GST, as applicable on sl no 1								10560.63				
3) Cost of civil works excluding labour welfare cess sl no. (1+2)								69230.79				
4) Labour welfare cess @1% on sl no 3								692.31				
5) Contingency Charge @ 3% is to be considered on Sl. No. - (3)								2076.92				
6) TOTAL AMOUNT (3+4+5)								72000.02				
7) PAY								72000.00				
( IN WORDS: SEVENTY TWO THOUSAND ONLY)												

ANJET VI KATRA  
(Reg.-01293) D.C.H.  
Katra, Bankura

Divisional Forest Officer  
Panchet Division, Bishnupur



**GOVERNMENT OF WEST BENGAL**  
**DIRECTORATE OF FORESTS**  
**OFFICE OF THE DIVISIONAL FOREST OFFICER,**  
**PANCHET DIVISION**

*Satyajit Sarani, Bishnupur, Bankura*  
*Phone & Fax No.. 03244-252189, E-mail: dfopanbis-wb@nic.in,*  
*Website: www.bankuraforest.in*



**Quotation No. 54/ Repair cum Maint. of Culvert of 2025-26(JP)**

**Dated, Bishnupur, the: 31 / 12 / 2025**

In terms of Finance Department Audit Branch Govt. of West Bengal's Memorandum No. 5400-F(Y) dated 25-06-2012 sealed quotations are invited from bonafide experienced and reliable resourceful agencies having experience in any Govt. /Semi Govt. / Govt. Under takings for providing various categories services as detailed in schedule below subject to the following conditions. Quotations should be addressed to the undersigned in sealed cover by name as well as official designation **Shri Abhijit Kar, WBFS, Divisional Forest Officer, Panchet Division, Bishnupur.**

**Quotation for Repair cum Maint. of Culvert at Padumpur Mouza, J.L. No.- 14, 01 No. (N-23°04'14.99" E-87°26'14.23") of Joypur Beat, Joypur Range under Panchet Division. (On Contract)**

**Copy of estimate Enclose**

Range	Beat	Mouza & J.L. No.	Quantity	Project Cost
Joypur	Joypur	Padumpur Mouza, J.L. No.- 14	01 No.	<b>69,923.00</b>

**C O N D I T I O N S**

1. The Quotation should be submitted in sealed cover. Quotation No., Bidder's Name & Address should be properly mentioned on the envelope. Incomplete Quotation paper or documents or envelope will be rejected.
2. The Contractor should quote the rates, Percentage (%) in figures as well as in words.
3. The materials to be supplied must be approved by the concerned Authority.
4. If any defects or issues are found with the supplied materials, it will likely need to be replaced with materials that meet the necessary standards. This is to be ensured that the safety and quality of the materials being used in whatever application they are intended for meets Standard specifications as per PWD.
5. The Contractors should submit Income-Tax, Sales Tax and Professional Tax Clearance Certificate, GST Certificate, PAN, Aadhaar & Trade License. Incomplete Quotation will be summarily rejected.
6. Acceptance of lowest quotation is not obligatory and the undersigned reserves the right to accept or reject any or all of the quotations without assigning any reason whatsoever.
7. The estimated rate is inclusive of all Taxes. The quotationer should quote their rate accordingly.
8. Bill has to be submitted with detailed break up of GST (CGST & SGST) as per the prevalent Govt. Order in this respect. All Taxes will be deducted from the gross bill as per Govt. rule.
9. For complying with Mahatma-Shree, the employment should first be offered to "Job Card Holders" from the fringe villagers and L1 Bidders/Contractors getting Work Order have to compulsorily submit the details as per Annexure-VI, as mandated under the scheme.
10. Sealed Quotation will be received up to **14/01/2026 & Opened on 15/01/2026 at 11:30 A.M.**
11. The Bidders should submit PAN- Aadhaar link screen shot for authentication of PAN-Aadhaar being already linked.

  
**Divisional Forest Officer,  
Panchet Division, Bishnupur**

No. 2374 (9)/02-08

**Dated, Bishnupur, the: 31 / 12 / 2025**

**Copy forwarded for information to and wide circulation to:**

1. The Chief Conservator of Forests, Central Circle, West Bengal.
2. The District Magistrate & Collector, Bankura
3. The Divisional Forest Officer, Bankura South Division, Bankura North Division & Working Plan (South) Division -II
4. The Sub- Divisional Officer, Bishnupur.
5. The Assistant Divisional Forest Officer, Panchet Division, Bishnupur.
6. The All Range Officers, Panchet Division with request to affix in the Range Notice board for wide publication.
7. Head Clerk, Panchet Division for Office Notice Board.
8. Account & Budget Section of Panchet Division.
9. Notice Board at Division Office.

  
**Divisional Forest Officer,  
Panchet Division, Bishnupur**

# ANNEXURE-CDC-2

## ESTIMATE FOR REPAIRING OF PIPE CULVERT AT MOUZA-Padumpur, JL. NO-14 ,BEAT-JOYPUR UNDER-JOYPUR. RANGE, PANCHET DIVISION, BISHNUPUR.

ITEM OF WORK	DESCRIPTION OF ITEM					QTY	UNIT	RATE(Rs.)	AMOUNT(Rs.)
1	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. (a) Depth of excavation not exceeding 1,500 mm. <b>According to PWD Schedule, 2017Page-1/It. no-2(a)</b>								
	FOR DESILTING OF BED	1	170.000	3.000	0.600	306.000			
		<b>TOTAL</b>				306.000	% Cum	11927.00	36496.62
2	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc. layer by layer complete. (Payment to be made on the basis of measurement of finished quantity of work). (a) With earth obtained from excavation of foundation. <b>According to PWD Schedule Page-1/It. no-3(a)(3rd corrigent page-1 sl-1)</b>								
		<b>TOTAL</b>				15.690	%Cum	7754.00	1216.60
3	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per manufacturer's specification and as per direction of Engineer-in-Charge to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer In Ground floor (Two Coat) a) Normal Acrylic Emulsion. <b>According to PWD Schedule 2017 Page-197/It.no-17(a)</b>								
		1	6.000	3.500		21.000			
		4	6.000	1.200		28.800			
		2	6.000	2.100		25.200			
		<b>TOTAL</b>				75.000	Sq.M	67.00	5025.00
4	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or concrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface thoroughly, complete as per manufacturer's specification and as per direction of the EIC. In Ground Floor: (a) One Coat. <b>According to PWD Schedule, 2017 Page-196/It.no-8</b>								
	(detials qty at sl no - 3)	75.000				75.000	SQM	31.40	2355.00
5	Stripping off worn out plaster and raking out joints of walls, ceilings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed. <b>(According to pwc schedule 2017 page no-11; it.no-10)</b>								
		1	3.800	2.500		9.500			
		4	3.250	1.200		15.600			
		2	3.210	2.100		13.482			
		<b>TOTAL</b>				38.582	Sq.M	19.00	733.06

ITEM OF WORK	DESCRIPTION OF ITEM					QTY	UNIT	RATE(Rs.)	AMOUNT(Rs.)				
6	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] with 1:6 cement mortar, 20mm thick plaster. (IN.- 1 (i) (b) / Page No.- 49 / PWD, SOR Vol 1 3rd Corrigendum)												
		1	4.800	3.500		16.800							
		4	5.500	1.200		26.400							
		2	5.200	2.100		21.840							
		TOTAL				65.040	Sq.M	153.00	9951.12				
7	Providing weep holes in Brick masonry / Plain / Reinforced concrete butment, wing wall / return wall with 100 mm dia AC pipe, extending through the full width of the structure with slope of 1V:20H towards drawing face. Complete as per drawing and Technical specifications. (Pg 297, Sl no 13.03 of PWD Road schedule & 15 th Corrigenda)												
		20 NOS			20.000	NOS	115.00	2300.00					
8	Sand rubbing including preparing and smoothening surface with admixture of pigment if necessary as directed. According to PWD Schedule 2017 Page-192/It.no -B-2												
		2	3.000	0.600		3.600							
		3	1.660	0.450		2.241							
		4	2.140	0.600		5.136							
		TOTAL				10.977	SQM	54.00	592.76				
<b>(1) SUB TOTAL COST</b>									<b>58670.16</b>				
<b>(2) 18% GST, as applicable on sl no 1</b>									<b>10560.63</b>				
<b>(3) Cost of civil works excluding labour welfare cess sl no. (1+2)</b>									<b>69230.79</b>				
<b>(4) Labour welfare cess @1% on sl no 3</b>									<b>692.31</b>				
<b>(5) Contingency Charge @ 3% is to be considered on Sl. No. – (3)</b>									<b>2076.92</b>				
<b>(6) TOLAL AMOUNT (3+4+5)</b>									<b>72000.02</b>				
<b>SAY</b>									<b>72000.00</b>				
<b>( IN WORDS: SEVENTY TWO THOUSAND ONLY)</b>													

  
 A.P. SENGUPTA  
 (Reg.-01293) D.C.E.  
 Ichatra, Bankura

  
 Divisional Forest Officer  
 Panchet Division, Bishnupur



**GOVERNMENT OF WEST BENGAL**  
**DIRECTORATE OF FORESTS**  
**OFFICE OF THE DIVISIONAL FOREST OFFICER,**  
**PANCHET DIVISION**

*Satyajit Sarani, Bishnupur, Bankura*

*Phone & Fax No.. 03244-252189, E-mail: dfopanbis-wb@nic.in,  
 Website: www.bankuraforest.in*



**Quotation No. 55/ Repair cum Maint. of Culvert of 2025-26(OD)**

**Dated, Bishnupur, the: 31 / 12 / 2025**

In terms of Finance Department Audit Branch Govt. of West Bengal's Memorandum No. 5400-F(Y) dated 25-06-2012 sealed quotations are invited from bonafide experienced and reliable resourceful agencies having experience in any Govt. /Semi Govt. / Govt. Under takings for providing various categories services as detailed in schedule below subject to the following conditions. Quotations should be addressed to the undersigned in sealed cover by name as well as official designation **Shri Abhijit Kar, WBFS, Divisional Forest Officer, Panchet Division, Bishnupur.**

**Quotation for Repair cum Maint. of Culvert at Chak Krishnasingpur Mouza, J.L. No.- 166, 01 No. (N-23°03'20.36" E-087°10'03.47") of Chingani Beat, Onda Range under Panchet Division. (On Contract)**

**Copy of estimate Enclose**

Range	Beat	Mouza & J.L. No.	Quantity	Project Cost
Onda	Chingani	<b>Chak Krishnasingpur Mouza, J.L. No.- 166</b>	01 No.	<b>69,923.00</b>

**CONDITIONS**

1. The Quotation should be submitted in **sealed cover**. **Quotation No., Bidder's Name & Address should be properly mentioned on the envelope. Incomplete Quotation paper or documents or envelope will be rejected.**
2. The Contractor should **quote the rates, Percentage (%) in figures as well as in words**.
3. The materials to be supplied must be approved by the concerned Authority.
4. If any defects or issues are found with the supplied materials, it will likely need to be replaced with materials that meet the necessary standards. This is to be ensured that the safety and quality of the materials being used in whatever application they are intended for meets Standard specifications as per PWD.
5. **The Contractors should submit Income-Tax, Sales Tax and Professional Tax Clearance Certificate, GST Certificate, PAN, Aadhaar & Trade License. Incomplete Quotation will be summarily rejected.**
6. Acceptance of lowest quotation is not obligatory and the undersigned reserves the right to accept or reject any or all of the quotations without assigning any reason whatsoever.
7. **The estimated rate is inclusive of all Taxes. The quotationer should quote their rate accordingly.**
8. **Bill has to be submitted with detailed break up of GST (CGST & SGST) as per the prevalent Govt. Order in this respect. All Taxes will be deducted from the gross bill as per Govt. rule.**
9. **For complying with Mahatma-Shree, the employment should first be offered to "Job Card Holders" from the fringe villagers and L1 Bidders/Contractors getting Work Order have to compulsorily submit the details as per Annexure-VI, as mandated under the scheme.**
10. Sealed Quotation will be received up to **14/01/2026 & Opened on 15/01/2026 at 11:30 A.M.**
11. The Bidders should submit PAN- Aadhaar link screen shot for authentication of PAN-Aadhaar being already linked.

*Divisional Forest Officer,  
 Panchet Division, Bishnupur*

**No. 2375 (9)/02-08**

**Dated, Bishnupur, the: 31 / 12 / 2025**

**Copy forwarded for information to and wide circulation to:**

1. The Chief Conservator of Forests, Central Circle, West Bengal.
2. The District Magistrate & Collector, Bankura
3. The Divisional Forest Officer, Bankura South Division, Bankura North Division & Working Plan (South) Division -II
4. The Sub- Divisional Officer, Bishnupur.
5. The Assistant Divisional Forest Officer, Panchet Division, Bishnupur.
6. The All Range Officers, Panchet Division with request to affix in the Range Notice board for wide publication.
7. Head Clerk, Panchet Division for Office Notice Board.
8. Account & Budget Section of Panchet Division.
9. Notice Board at Division Office.

*Divisional Forest Officer,  
 Panchet Division, Bishnupur*

**(ANNEXURE) -CDC-3**

**ESTIMATE FOR REPAIRING OF PIPE CULVERT AT MOUZA-Chak Krishnasingpur, JL. NO-166 ,BEAT-Chingani UNDER-ONDA. RANGE, PANCHET DIVISION, BISHNUPUR.**

ITEM OF WORK	DESCRIPTION OF ITEM					QTY	UNIT	RATE(Rs.)	AMOUNT(Rs.)	
1	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. (a) Depth of excavation not exceeding 1,500 mm. According to PWD Schedule, 2017Page-1/It. no-2(a)									
	FOR DESILTING OF BED	1	170.000	3.000	0.600	306.000				
					<b>TOTAL</b>	<b>306.000</b>	% Cum	11927.00	36496.62	
2	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc. layer by layer complete. (Payment to be made on the basis of measurement of finished quantity of work). (a) With earth obtained from excavation of foundation. According to PWD Schedule Page-1/It. no-3(a)(3rd corrigent page-1 sl-1)									
						<b>TOTAL</b>	<b>15.690</b>	%Cum	7754.00	1216.60
3	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per manufacturer's specification and as per direction of Engineer-in-Charge to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer In Ground floor (Two Coat) a) Normal Acrylic Emulsion. According to PWD Schedule 2017 Page-197/It.no-17(a)									
		1	6.000	3.500		21.000				
		4	6.000	1.200		28.800				
		2	6.000	2.100		25.200				
						<b>TOTAL</b>	<b>75.000</b>	Sq.M	67.00	5025.00
4	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or concrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface thoroughly, complete as per manufacturer's specification and as per direction of the EIC. In Ground Floor: (a) One Coat. According to PWD Schedule, 2017 Page-196/It.no-8									
	(details qty at sl no - 3)	75.000				75.000	SQM	31.40	2355.00	
5	Stripping off worn out plaster and raking out joints of walls, ceilings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed. (According to pwc schedule 2017 page no-11; it.no-10)									
		1	3.800	2.500		9.500				
		4	3.250	1.200		15.600				
		2	3.210	2.100		13.482				
						<b>TOTAL</b>	<b>38.582</b>	Sq.M	19.00	733.06

ITEM OF WORK	DESCRIPTION OF ITEM					QTY	UNIT	RATE(Rs.)	AMOUNT(Rs.)			
6	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] with 1:6 cement mortar, 20mm thick plaster. (IN.- 1 (i) (b) / Page No.- 49 / PWD, SOR Vol 1 3rd Corrigendum)											
		1	4.800	3.500		16.800						
		4	5.500	1.200		26.400						
		2	5.200	2.100		21.840						
		TOTAL			65.040	Sq.M	153.00	9951.12				
7	Providing weep holes in Brick masonry / Plain / Reinforced concrete butment, wing wall / return wall with 100 mm dia AC pipe, extending through the full width of the structure with slope of 1V:20H towards drawing face. Complete as per drawing and Technical specifications. (Pg 297, Sl no 13.03 of PWD Road schedule & 15 th Corrigenda)											
		20	NOS	20.000	NOS	115.00	2300.00					
8	Sand rubbing including preparing and smoothening surface with admixture of pigment if necessary as directed. According to PWD Schedule 2017 Page-192/It.no -B-2											
		2	3.000	0.600		3.600						
		3	1.660	0.450		2.241						
		4	2.140	0.600		5.136						
		TOTAL			10.977	SQM	54.00	592.76				
(1) SUB TOTAL COST								58670.16				
(2) 18% GST, as applicable on sl no 1								10560.63				
(3) Cost of civil works excluding labour welfare cess sl no. (1+2)								69230.79				
(4) Labour welfare cess @1% on sl no 3								692.31				
(5) Contingency Charge @ 3% is to be considered on Sl. No. – (3)								2076.92				
(6) TOTAL AMOUNT (3+4+5)								72000.02				
SAY								72000.00				
( IN WORDS: SEVENTY TWO THOUSAND ONLY)												

  
 A.P.T. M.A.T.A.  
 (Reg.-01293) D.C.E.  
 Ichatra, Bankura

  
 Divisional Forest Officer  
 Panchet Division, Bishnupur



**GOVERNMENT OF WEST BENGAL**  
**DIRECTORATE OF FORESTS**  
**OFFICE OF THE DIVISIONAL FOREST OFFICER,**  
**PANCHET DIVISION**

*Satyajit Sarani, Bishnupur, Bankura*

*Phone & Fax No.. 03244-252189, E-mail: dfopanbis-wb@nic.in,*

*Website: www.bankuraforest.in*



**Quotation No. 56/ Repair cum Maint. of Culvert of 2025-26(BKD)**

**Dated, Bishnupur, the: 31 / 12 / 2025**

In terms of Finance Department Audit Branch Govt. of West Bengal's Memorandum No. 5400-F(Y) dated 25-06-2012 sealed quotations are invited from bonafide experienced and reliable resourceful agencies having experience in any Govt. /Semi Govt. / Govt. Under takings for providing various categories services as detailed in schedule below subject to the following conditions. Quotations should be addressed to the undersigned in sealed cover by name as well as official designation **Shri Abhijit Kar, WBFS, Divisional Forest Officer, Panchet Division, Bishnupur.**

**Quotation for Repair cum Maint. of Culvert at Khanabari Mouza, J.L. No.- 113, 01 No. (N-23°00'31.6" E-87°23'26.3")  
of Amdahara Beat, Bankadaha Range under Panchet Division. (On Contract)**

**Copy of estimate Enclose**

Range	Beat	Mouza & J.L. No.	Quantity	Project Cost
Bankadaha	Amdahara	Khanabari Mouza, J.L. No.- 113	01 No.	<b>69,923.00</b>

**CONDITIONS**

1. The Quotation should be submitted in **sealed cover**. Quotation No., Bidder's Name & Address should be properly mentioned on the envelope. **Incomplete Quotation paper or documents or envelope will be rejected.**
2. The Contractor should **quote the rates, Percentage (%) in figures as well as in words.**
3. The materials to be supplied must be approved by the concerned Authority.
4. If any defects or issues are found with the supplied materials, it will likely need to be replaced with materials that meet the necessary standards. This is to be ensured that the safety and quality of the materials being used in whatever application they are intended for meets Standard specifications as per PWD.
5. **The Contractors should submit Income-Tax, Sales Tax and Professional Tax Clearance Certificate, GST Certificate, PAN, Aadhaar & Trade License. Incomplete Quotation will be summarily rejected.**
6. Acceptance of lowest quotation is not obligatory and the undersigned reserves the right to accept or reject any or all of the quotations without assigning any reason whatsoever.
7. **The estimated rate is inclusive of all Taxes. The quotationer should quote their rate accordingly.**
8. **Bill has to be submitted with detailed break up of GST (CGST & SGST) as per the prevalent Govt. Order in this respect. All Taxes will be deducted from the gross bill as per Govt. rule.**
9. **For complying with Mahatma-Shree, the employment should first be offered to "Job Card Holders" from the fringe villagers and L1 Bidders/Contractors getting Work Order have to compulsorily submit the details as per Annexure-VI, as mandated under the scheme.**
10. Sealed Quotation will be received up to **14/01/2026 & Opened on 15/01/2026 at 11:30 A.M.**
11. The Bidders should submit PAN- Aadhaar link screen shot for authentication of PAN-Aadhaar being already linked.

**Divisional Forest Officer,  
Panchet Division, Bishnupur**

**No. 2376 (9)02-08**

**Dated, Bishnupur, the: 31 / 12 / 2025**

**Copy forwarded for information to and wide circulation to:**

1. The Chief Conservator of Forests, Central Circle, West Bengal.
2. The District Magistrate & Collector, Bankura
3. The Divisional Forest Officer, Bankura South Division, Bankura North Division & Working Plan (South) Division -II
4. The Sub- Divisional Officer, Bishnupur.
5. The Assistant Divisional Forest Officer, Panchet Division, Bishnupur.
6. The All Range Officers, Panchet Division with request to affix in the Range Notice board for wide publication.
7. Head Clerk, Panchet Division for Office Notice Board.
8. Account & Budget Section of Panchet Division.
9. Notice Board at Division Office.

**Divisional Forest Officer,  
Panchet Division, Bishnupur**

**(ANNEXURE) -CDE-4**

**ESTIMATE FOR REPAIRING OF PIPE CULVERT AT MOUZA-Khanabari, JL. NO-113, BEAT-Amdahara UNDER-BANKADAHARA. RANGE, PANCHET DIVISION, BISHNUPUR.**

ITEM OF WORK	DESCRIPTION OF ITEM					QTY	UNIT	RATE(Rs.)	AMOUNT(Rs.)
1	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. (a) Depth of excavation not exceeding 1,500 mm. According to PWD Schedule, 2017 Page-1/It. no-2(a)								
	FOR DESILTING OF BED	1	170.000	3.000	0.600	306.000			
2	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc. layer by layer complete. (Payment to be made on the basis of measurement of finished quantity of work). (a) With earth obtained from excavation of foundation. According to PWD Schedule Page-1/It. no-3(a)(3rd corrigent page-1 sl-1)					306.000	% Cum	11927.00	36496.62
3	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per manufacturer's specification and as per direction of Engineer-in-Charge to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer In Ground floor (Two Coat) a) Normal Acrylic Emulsion. According to PWD Schedule 2017 Page-197/It.no-17(a)								
		1	6.000	3.500		21.000			
4	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or concrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface thoroughly, complete as per manufacturer's specification and as per direction of the EIC. In Ground Floor: (a) One Coat. According to PWD Schedule, 2017 Page-196/It.no-8								
	(detials qty at sl no - 3)	75.000				75.000	Sq.M	67.00	5025.00
5	Stripping off worn out plaster and raking out joints of walls, ceilings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed. (According to pwd schedule 2017 page no-11; it.no-10)								
		1	3.800	2.500		9.500			
		4	3.250	1.200		15.600			
		2	3.210	2.100		13.482			
					TOTAL	38.582	Sq.M	19.00	733.06

ITEM OF WORK	DESCRIPTION OF ITEM					QTY	UNIT	RATE(Rs.)	AMOUNT(Rs.)				
6	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] with 1:6 cement mortar, 20mm thick plaster. (IN.- 1 (i) (b) / Page No.- 49 / PWD, SOR Vol 1 3rd Corrigendum)												
		1	4.800	3.500		16.800							
		4	5.500	1.200		26.400							
		2	5.200	2.100		21.840							
		TOTAL				65.040	Sq.M	153.00	9951.12				
7	Providing weep holes in Brick masonry / Plain / Reinforced concrete butment, wing wall / return wall with 100 mm dia AC pipe, extending through the full width of the structure with slope of 1V:20H towards drawing face. Complete as per drawing and Technical specifications. (Pg 297, Sl no 13.03 of PWD Road schedule & 15 th Corrigenda)												
		20 NOS		20.000	NOS	115.00			2300.00				
8	Sand rubbing including preparing and smoothening surface with admixture of pigment if necessary as directed. According to PWD Schedule 2017 Page-192/It.no -B-2												
		2	3.000	0.600		3.600							
		3	1.660	0.450		2.241							
		4	2.140	0.600		5.136							
		TOTAL				10.977	SQM	54.00	592.76				
<b>(1) SUB TOTAL COST</b>									<b>58670.16</b>				
<b>(2) 18% GST, as applicable on sl no 1</b>									<b>10560.63</b>				
<b>(3) Cost of civil works excluding labour welfare cess sl no. (1+2)</b>									<b>69230.79</b>				
<b>(4) Labour welfare cess @1% on sl no 3</b>									<b>692.31</b>				
<b>(5) Contingency Charge @ 3% is to be considered on Sl. No. – (3)</b>									<b>2076.92</b>				
<b>(6) TOLAL AMOUNT (3+4+5)</b>									<b>72000.02</b>				
<b>SAY</b>									<b>72000.00</b>				
<b>( IN WORDS: SEVENTY TWO THOUSAND ONLY)</b>													

  
 ANUP SINGH  
 (Reg.-01293) D.C.E.  
 Khatra, Bankura

  
 Divisional Forest Officer  
 Panchet Division, Bishnupur